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QUESTION 1

You and other administratorsare in the habit of creating FlexClone LUNs and then not deleting them when they are no
longer needed. What should you do to help manage space utilization? 

A. Use the flexclone split command. 

B. Use the volume snapshot autodelete modify command. 

C. Configure FlexClone LUNs to automatically be marked for deletion. 

D. Configure FlexClone LUNs to automatically delete when they are one minute older than 30 days. 

Correct Answer: B 

 

QUESTION 2

You are calculating transfer timefor SnapMirror replication between two NetApp clusters. Which three factors should be
included in your consideration? 

(Choose three.) 

A. data size to transfer 

B. SnapMirror schedule 

C. TCP window size 

D. latency between clusters 

E. retention policy 

Correct Answer: ACD 

 

QUESTION 3

You are in a SnapProtect v11 solution environment creating a new subclient with NAS dat 

A. Besides the subclient name, what other information is mandatory? (Choose three.) 

B. the Snap Engine 

C. the backup content path 

D. the storage policy 

E. the backup schedule 

F. the retention policy 

Correct Answer: ACD 
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QUESTION 4

Your customer wants to implement a SnapVaultrelationship, but is concerned that the initial transfer will use up all of
their network bandwidth. Which solution should you recommend to the customer? 

A. Use the SMTape functionality to back up the source volume to tape and use the tape to transfer the base snapshot
copy to the destination volume. 

B. Set up a SyncMirror relationship to a NetApp controller in the same data center, than ship the controller to the
destination site. 

C. Manually copy each directory from the source volume to the destination volume during times when the network
utilization is low. 

D. Enable volumeefficiency on the destination volume. 

Correct Answer: A 

 

QUESTION 5

A customer wants to set up an SVM DR relationship to protect a source SVM that is dedicated for NAS file services. The
source and destination clusters are running ONTAP 9.5. 

In this scenario, which application accomplishes this task? 

A. OnCommand Unified Manager 

B. OnCommand System Manager 

C. SnapCenter 

D. Snap Creator 

Correct Answer: B 

 

QUESTION 6

A company is evaluating different data protection solutions. The company requires a solution that provides both local
failover and storage tiering. 

Which two solutions meet these requirements? (Choose two.) 

A. a FAS9000A system with SSD aggregates and FabricPool 

B. a FAS8200A NetApp Private Storage (NPS) system and Cloud Backup 

C. an AFF A300A with StorageGRID WebScale 

D. a FAS2650A system with HDD aggregates and FabricPool 

Correct Answer: AC 
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QUESTION 7

Your customer has issued the metrocluster heal command. Which two statements are true regarding this command? 

(Choose two.) 

A. The customer has replaced failed disks in one of the clusternodes. 

B. The customer has to run the command twice. 

C. The customer has one node in the site down and wants to heal the cluster. 

D. The customer is preparing for a disaster recovery switchback. 

Correct Answer: AD 

 

QUESTION 8

You have a NAS volume containing 100 GB of data and daily change rate of 10%. You want to keep seven daily
Snapshot copies. What is the minimum size for the volume? 

A. 170 GB 

B. 100 GB 

C. 110 GB 

D. 220 GB 

Correct Answer: A 

 

QUESTION 9

Which two NetApp products reduce the backup time and createa consistent backup for a primary Oracle target? 

(Choose two.) 

A. SnapMirror for Open Systems 

B. Open Systems SnapVault 

C. SnapManager for Orade 

D. SnapProtect 

Correct Answer: CD 

 

QUESTION 10
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A customer has a MetroCluster solution and wants to automate the disaster-recovery process. The customer wants to
control the switchcover between the sites. WhichNetApp tool would satisfy these requirements? 

A. OnCommand Unified Manager 

B. MetroCluster Tiebreaker 

C. OnCommand System Manager 

D. OnCommand SnapCenter 

Correct Answer: B 

 

QUESTION 11

Which attribute does Data ONTAP use the identify Snapshot copies between primary and secondary FlexVol volumes in
a SnapVault relationship? 

A. FlexVol name 

B. Snapshot prefix 

C. SnapMirror policy 

D. SnapMirror label 

Correct Answer: D 

 

QUESTION 12

Your customer wants to implement SVM DR, but the customer is not certain whether the identity-preserve parameter
should be enabled. The customer explains that the source and destination clusters are in different network subnets. 

In this scenario, which SVM DR solution should the customer use? 

A. SVM DR using the identity-preserve parameter disabled and the default SnapMirror policy. 

B. SVM DR using the identity-preserve parameter enabled and then administratively take the data LIFs offline on the DR
cluster. 

C. SVM DR with the identity-preserve parameter enabled and a SnapMirror policy with the discard-configs network
parameter. 

D. SVM DR with the identity-preserve parameter enabled and the default SnapMirror policy. 

Correct Answer: D 

 

QUESTION 13

Your disaster recovery strategy requires a mirror, an archive, and a tape backup. Which software would you recommend
for this scenario? 
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A. OnCommand System Manager 

B. OnCommand Workflow Automation 

C. SnapProtect 

D. OnCommand Unified Manager 

Correct Answer: C 

 

QUESTION 14

You have multiple load-sharing destinations for a volume in a storage virtual machine. The source volume has become
unavailable and you want to make one of the destination volumes the new source. 

What happens to the original source volume? 

A. The promote operation deletes the original source volume. 

B. The promoteoperation takes the original source volume offline. 

C. The initialize operation deletes the original source volume. 

D. The original source volume goes offline. 

Correct Answer: A 

 

QUESTION 15

A customer has deployed OnCommand Unified Manager and wants to use it to manage their data protection
relationships within their NetApp storage infrastructure. 

In this scenario, which additional component must be deployed to satisfy this requirement? 

A. OnCommand System Manager 

B. NetApp SnapCenter 

C. OnCommand Cloud Manager 

D. OnCommand Workflow Automation 

Correct Answer: D 
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